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Simplifyf—2= Simplifyz—;L: Simplify%=

-18+ 7 = -25+14 = -125+98 =

2584 + 19 = 3401 +19 = 3819+ 19 =

388 — 264 = 879-753 = 3885 —1244 =

1264 x 6 = 2643 x 6 = 4642 x 6 =

Round 7643 to the nearest 10 Round 9873 to the nearest 10 Round 19653 to the nearest
= = 10 =

2.7x3= 46x3= 12.9x3 =

Sm=__.cm 1lm=__cm 13.7m=__cm

288 +6 = 324 +6= 516 +6 =

Write 123 in Roman Numerals Write 243 in Roman Numerals Write 879 in Roman Numerals



Simplifyf—2 =§ Simplifyi—j =Z

-18+7=-11 -25+14=-11

2584 +19=136 3401 +19=179

388 —264 =124 879 —-753 =126

1264 x 6 = 7584 2643 x 6 = 15858

Round 7643 to the nearest 10 Round 9873 to the nearest 10
=7640 = 9870

2.7x3=8.1 46x3=13.8

5m =500cm 11m = 1100cm

288 +6=48 324 +-6=54

Write 123 in Roman Numerals Write 243 in Roman Numerals
= CXXIII = CCXLII

8
13

-125+98 =-27
3819 +19=201
3885 —-1244 = 2641
4642 x 6 = 27852

Round 19653 to the nearest
10 = 19650

12.9x3=38.7
13.7m =1370cm
516 - 6 = 86

Write 879 in Roman Numerals
= DCCCLXXIX

Simplify 17127 =



